Béh na 60 metri s prekazkami

Divky mladsi Vysledek Divky starsi
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1 |Tereza Cervkova Fulnek | 30,838 | 31,26 | 30,84 6 51 |Klara Némcova VySkovice | 14,92 | 13,89

2 |Pavlina Sykorova Hajov 19,108 | 20,97 19,11 2 52 [Markéta Némcova VySkovice | 13,69 | 13,51

3 |Eliska Matéjova Fulnek | 27,477 | 26,846 | 26,85 5 53 [Maléfova Markéta Hajov 15,504 | 14,651

4 |Hanzelkova Elén Hajov | 21,441 | 26,121 | 21,44 4 54 [Kabatova Anna Hajov 16,001 | 15,405

5 |Sofie Smolarova Mnisi 18,249 | 17,929 | 17,93 1 55 |Jifikova Tereza Hajov 20,213 | 19,867

6 |Kusova Klaudie Hajov | 21,056 | 19,757 | 19,76 3 56
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Chlapci mladsi Vysledek Chlapci starsi
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26 |Jakub Skrabal Mnisi n 20,914 | 20,91 3 76 |Pavel Turek FpR. 18,017 | 43,938
27 |Michal Jedli¢ka Fulnek | 29,144 n 29,14 8 77 |Filip Zahradnik Mnisi n 22,192
28 | Smolik Jakub Lubina | 31,395 | 27,671 | 27,67 4 78 | Tobias Bilek Fulnek 30,538 | 25,168
29 [Radim Jedlicka Fulnek n 47,447 | 47,45 | 14 79 |[Vojtéch Schiller FpR. 14,278 | 13,818
30 |Mikulas Holub Mnisi 34,417 | 32,913 | 32,91 13 80 |MaléF Matgj Hajov 14,061 | 13,741
31 |Matula Krystof Hajov 16,994 n 16,99 1 81 [Matula Jan Hajov 17,609 | 17,274
32 |Matyas Sablatura Mnisi 18,639 | 17,698 | 17,70 2 82 |Veselka Richard Hajov 17,244 n
33 |Matéj Jufena Mnisi 29,712 | 28,472 | 28,47 7 83 [Svato$ Marek Hajov 17,873 | 15,844
34 |Hanzelka Marek Hajov | 28,346 | 52,858 | 28,35 6 84 |Jifik David Hajov 15,287 | 19,535
35 | Zbynék Beler Mnisi 31,777 n 31,78 | 12 85
36 |[Smolik Tomas Lubina | 42,317 | 28,26 | 28,26 5 86
37 |Baron Stépan Lubina | 29,336 | 31,622 | 29,34 9 87
38 Kresan éimon Lubina n 31 ,622 31 ,62 11 88
39 |Krigke Petr Lubina 95 110 95,00 | 15 89
40 | Stépan Grill Lubina n 29,786 | 29,79 | 10 90
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